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Eighth Semester B.E. Degree Exa56i-ffifion, Jan./Feb. 2021

Gontrol SyStem
*MmWd*

Time: 3 hrs. fu 'sls 
@ax. Marks: 80

.**, 3f ".*l l*M%" w$
Note: Answer any FWE full questionpcffising ONE full questiopffim each module.

d%lY- - - ,u"k"
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I a. Compare open loop and clqffififfir-ryrtem and ffi.in. practical example of each.
* 3# @ (04 Marks)

b. Draw the electrical net+so*%ased on Torque-cur$at analogy eive all the performanceb. Draw the electrical neffirk %ased on Toroue-curfaqt analogy give all the performance

equations for the rlg.Sfu(ffi. ' 
6ffi (08 Marks)
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(04 Marks)

(08 Marks)

(08 Marks)
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YI drutr \* tun ffiWz(a),M
b@%Obtain the T.F b#q*E Masen's gqin @rmula for the Fig.Q.2(b).
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3a.

4a.
b.

c-

5a.
b.

Find Kr so

Fie.Q.3(a).
that e =

Rc.

Module-2
0.35. Find the correspond

g.Q.3(a)
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in specifications for the
(05 Marks)

Lts)

(06 Marks)

second order
(05 Marks)

(03 Marks)

(07 Marks)

(06 Marks)

limitations.
(04 Marks)

(12 Marks)
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b.

c.

6 the stability of a system and mention its

b. A feedback control syffiq{has an open loop transfer function,
l,/ \sd

G(s)H(s) = - . ,s,++=i. Draw the root locus as K varies from 0 to o.
rW'+2s+2)

control sys"#ffi; c(s) = 49+
",q&m s'(s+l)

i) The static enor coeffibjffis A 1

ii) Steady state errorffip the input @3 2 r*k*fl
R(s) =1*1*#h* @*r\\rrr-,'*r* d

Draw the time*ffi'nse curve and defuret4in{e domain specifications, for

system for uniffi-Ynput.
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Module-4 .W
7 a. List the limitations of lead and lag compensations. ,*m* (04 Marks)

b. Sketch the Bode plot for the r.F = ii,'ls;'-*i."il mf&,Xre margin and gain margin.
s(s + l0)(s + 20) *ruP

ffi ** (08 Marks)
c. Write a note about gain margin in brief. ffi*W (04 Marks)

qe &ifl d*M"- -@m. tum*

8 a. Drawthepolarplotof G(s)H(s)-*&*.11?0,,r . =.. s, @ (08Marks)

"%qry2xs+4)(s+8)' 
*h

e w 
I(s) = @. comment on closed looPb. Sketch the Nyquist plot fogffitem with G(s)f_ J_,_ __r _ *ru- 
*r ests_tl 

(08Marks)stability. * 
**"&dsfu-# d#"

W Module-S *'*'

9 a. Explain the sampffiffirocess with the help gfudlt impulse train. (06 Marks)

15EC43

(06 Marks)

(04 Marks)

c. Obtain the qtat$ffirodel of the system reffiffied by the drtlerentnl equatron.

q4qry+rrff+t0y(t):fir1$ 
1,: (05Marks)

dt'{"uu r&sffi€ * hd;\@ WoR Mry" "L10 a. Defure the following termE r 
^ %rc -rry*k

ii) Statespace W M*#* , d*ii, State trajectory* d *- 'ftr,' -\ (06 Marks)

a. Explain the sampffirocess with the help q.f urttt impulse train. (06 Marks)

b. What is diagoffi[tfon of a mahix explairyffih suitable example? (05 Marks)

c. Obtain tn. {qutffidel of the system riffifred by the differential equation.
.2.. *.i\). -*/

ii, State tralectory*, * ,-m. ryr q
b. Obtain the staie mo"dfl of the given elect'riffi dystem for thgffi&.10O)
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